M17/2/GREEK/SP2/ENG/TZ0/XX

Diploma Programme
Programme du dipléme

Programa del Diploma

Classical Greek
Standard level
Paper 2

Wednesday 17 May 2017 (morning)

1 hour 30 minutes

Instructions to candidates

* Do not open this examination paper until instructed to do so.

* Answer all questions on three extracts taken from two options studied.
* Each extract is worth [15 marks].

* The maximum mark for this examination paper is [45 marks].

2217-2954
11 pages © International Baccalaureate Organization 2017

International Baccalaureate
Baccalauréat International

Bachillerato Internacional




-2- M17/2/GREEK/SP2/ENG/TZ0/XX

Answer all questions on three extracts taken from two options studied.
Option A: Homer

Extract 1 Homer, lliad 16.124-144

(G THV HEV TTPLUVTV IO Apgemev- adTap AXIAAEDG
125 unpw mAngapevog IatpokAfja mpooéetmev:
‘Opoeo doyeveg [latporeeg inmokéAevOe-
Aeboow 81 mapd viuot mupog dnioto iwnv:
ur) On vijag EAwot kai 0DKETL UKTA TEAWVTAL:
dvoeo Tedyea Baooov, Eyw 8¢ ke Aaodv dyeipw.
130 &g @dato, ITdtpokhog 8¢ KOpOGOETO VWPOTIL XAAKED.
KVNUISag pev mp@ta mept Kvijunotv €0nke
KaAdg, apyvpéolaty Emaogupiolg dpapviag:
Sevtepov av Bwpnka mept otrBeooty Eduve
notkilov dotepdevta modwkeog Aiakidao.
135 4aueid’ &p’ wpotowv Paleto Eigog dpyvponiov
X&Akeov, adTap Emerta odkog péya te oTIPapov Te:
Kkpati & &n’ ipOipw kuvény ebTvkToV EONKeEV
inmovptv- detvov 8¢ Aogog kabumepOev Evevev.
eileto 8 AAkipa doDpe, Td of makauneLy aprpet.
140 £yxog &’ ovy é\et’ olov apbdpovog Aiakidao
BplOv péya otiPapdv- TO pev ov dhvat’ dAAog Axadv
TéAAeL, AANG pv oiog émiotato miAat AXIAeLg
[INAada pehiny, v matpl @ilw nope Xeipwv
IInAiov €k KopLPAG, POVOV EUpEVAL T)PWETTLY.

1. (a) Translate adtap ... iwny (lines 124-127). [3]

(b) 8poco ... ayeipw (lines 126-129). Outline the two eventualities that Achilles wants to
avoid. Support your answer by quoting the Greek text. [2]

(c) xkvnuideg ... te (lines 131-136). List four pieces of equipment used by Patroclus in
preparation for the battle. Support your answer by quoting the Greek text. [4]

(d) Outline three features that make Achilles’s spear unique. Quotation of the Greek text
is not required. (3]

(e) List three features typical of the epic style found in this extract. Support your answer
by quoting the Greek text. [3]
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Option A: Homer

Extract 2 Homer, lliad 16.351-371

ovtoL dp’ Nyepoveg Aava@v Elov dvdpa €kaoTog.
wg 8¢ VKol dpveootv Eméxpaov Tj épigolot
olvtat O €k uNAwv aipevdpevol, ai T év dpeoat
Topévog agpadinot StETpayev- ot 8¢ i86vTeg

355  aiya dapralovoty avarkida Bupodv éxovoag:
¢ Aavaol Tpweootv énéxpaov- ot 8¢ pdpolo
dvokeldadov pvrioavto, AdBovto 8¢ Bovpidog dlkiig.
Aloag &7 0 péyag aigv €’ "Extopt XaAkokopvoTf
et dxovtiooar O 8¢ idpein moAépolo

360  domidt Tavpein keKAAVHUEVOG EDPENG DUOVG
OkENTeT  OlOTOV Te Poilov kai SODTOV AKOVTWY.
1 pev 81 yiyvwoke paxng étepaliéa vikny:
AANG Kail DG avépuuve, odw 8 €pinpag Etaipoug.
WG 8’ 6T dm’ OvAVUTOL VEQOG EpXETAL OVPAVOV ElOW

365 aifépog €k ding, 61e Te Zebg Aaihama teivy,
G TOV €k V@V YéveTo laxn Te Opog Te,
ovd¢ kata poipav mépaov mahv. “Extopa §” tnmot
Ekpepov WkOT0dEG oLV TeLXEDL, Agime O¢ Aaov
Tpwikov, 0VG dEkOVTAG OPLKTI TAPPOG EPUKE.

370 moMoi §’ €v Tdgpw Epuodpuateg Wkéeg immol
d&avt’ év mpwtw Pupd Aimov dppat’ AvakTwy,

2. (a) wg...é£éxovoag (lines 352-355). Analyse, giving four details, the way that the simile
enhances the violence of the Greeks’ attack on the Trojans. Quotation of the Greek
text is not required. [4]

(b)  Write out and scan ®¢ Aavaot ... dAkiig (lines 356-357). Indicate elisions where
necessary. [2]

(c) Alag... mdA\w (lines 358-367). List three Greek words, with their English translations,
that refer to sounds. [3]

(d) 08¢ ... viknv (lines 359-362). Outline, giving four examples, how Hector’s experience
in battle is evident. Quotation of the Greek text is not required. [4]

(e) Describe two ways in which effective retreat of the Trojans is impeded. Support your
answer by quoting the Greek text. [2]

Turn over
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Option B: History

Extract 3 Herodotus, The Histories 1.33-34

10

(@)

(b)

(d)
(e)

tadta Aéywv 1@ Kpoiow ob kwg obte €xapileto, oUte Adyov Ly Totnodpevog o0devog
amoméunetat, kapta do&ag dpuabéa elval, 6G @ mapedvTa Ayadd peTelg TV TEAEVTNHV TTAVTOG
xpnuatog 6pav ékéheve. peta 8¢ ZoAwva oixopevov EAapé €k Beod vépeoig peyain Kpoioov, wg
elkdoat, 6Tt Evopuoe wuTov elval AvBpwnwv andvtwv OAPiwtatov. avtika 6¢ oi ebdovTL Eméotn
6velpog, 66 ol v dAnBeinv épatve TV LeEANOVTWV YevéoDat kKak®v katd TOV maida. foav 8¢
@ Kpoiow dVo maideg, Tdv oVtepog pev StépBapto, v yap Of kKwedg, 6 8¢ Etepog TV NAikwv
HaKpD TA TTavTa TpdTOG- obvopa 8¢ ol v Atvg. todTtov 01 v TOV ATy onpaivet 7@ Kpoiow 6
Svelpog, wg amohéet piv aixpi odnpén PAndévta. 6 &’ éneite EnyépOn kal EwvT® Aoyov Edwke,
Katappwdnoag Tov dvelpov dyetat pev T@ matdi yvvaika, éwbota 8¢ otpatnyéety W 1@V Avddv
ovdauf €1t émit tolodto mpijypa Eémeurne: axovtia 8¢ kal dopdtia Kal Té& ToladTa TAVTA TOIOL
XpewvTat € moAepov dvBpwmol, ék TOV dvdpewvwy ékKkopioag &g Tovg Baldpovg ovvévnoe, un Ti
ol kpepdpevov T@® maudi EUmEot).

oVte Aoyov ... ékéAeve (lines 1-3). Explain why Croesus dismisses Solon. Quotation
of the Greek text is not required. [3]

peta 8¢ ... Tov maida (lines 3-5). Explain how Croesus’s behaviour reveals a lack of
wisdom. Quotation of the Greek text is not required. [2]

TOV peAovtwv yevéobat kak@v (line 5). Outline, with three details, the evil events
disclosed by the dream. Support your answer by quoting the Greek text. [3]

Translate foav 6¢ 1@ Kpoiow ... Atvg (lines 5-7). [3]

List the four actions Croesus takes with regard to Atys as a consequence of his dream.
Quotation of the Greek text is not required. [4]
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Option B: History

Extract 4 Herodotus, The Histories 1.43-44

4

10

(@)

(b)

(c)
(d)
(e)

dmukopevol 8¢ ég tov ‘Olvumov 10 8pog é(rteov 10 OBnpiov, eDpOVTEG 8¢ Kal TEPLOTAVTEG

avto kOUKAW éonkovrtiCov. €vBa 8r) 0 E€lvog, obTog O O KaBapBeig TOV POVoV, kakeduevog 6¢
AdpnoTog, dkovTilwv TOV bV ToD eV apaptavel, Tuyxdvet 8¢ Tod Kpoioov maudog. 6 pév 8n
PAnOeig t1j aiyxuf é&€mAnoe Tod dveipov TV QN €Dee 8¢ Tig dyyeléwv @ Kpoiow 10 yeyovog,
amkopevog 8¢ &g Tag Zdpdig TNV Te pdynv kol OV Tod matdog popov éonunvé oi. 6 8¢ Kpoioog
T® Bavatw 10D Tad0g CLVTETAPAYHEVOG HAAAOV TL €delVONOYEETO OTL ULV ATEKTELVE TOV ADTOG
@OvoL ékabnpe- mepinuektéwv 8¢ Tf) ovuPopt] detvwg ékdhee puev Aia kabapotov HapTvpOpEVOG
T U110 ToD Eeivov memovOwG ein éxdAee O¢ EMiOTIOV Te Kal ETALPILOV, TOV AOTOV TODTOV dVOpdlwy
0edv, TOV pev éniotiov kaléwv, S1ott 81| oikiolol brodefdpevog TOV E€vov Qovéa ToD Tadog
gNavOave POokwy, TOV 8¢ ETatpniov, WG PUAAKA CLUTEHYAG AVTOV EVPTIKOL TTOAEULDTATOV.

dmukopevol 8¢ ég tov ‘Olvurmov (line 1). State the region that the hunters come from,
the region that they go to, and the direction in which they therefore travel. [3]

Outline the four stages in which the assault on the boar takes place. Support your

answer by quoting the Greek text. [4]
Translate €0¢e ... éonunveé ol (lines 4-5). [3]
0 8¢ Kpoioog ... éxaOnpe (lines 5-7). Analyse the way irony increases Croesus’s grief. [2]

Identify and explain the meaning of the three epithets used by Croesus to call on Zeus.  [3]

Turn over



Option C: Tragedy

Extract 5

(d)
(e)
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Sophocles, Electra 516-536

KAY. &velpévn pév, g éotkag, ad otpé@et:

520

525

530

535

oV yap mapeot’ Afylobog, 6 o’ émeiy’ del
i Tot Bupaiav y’ ovoav aioxdvewy @ilovg:
VOV §’ wg dmeoT’ €keivog, ovdEV EvTpEmel
gUod ye- Kaitol TOAN& TTpOG TOAAOVG e 8T
¢&etnag wg Opaoeia kai mépa Sikng

dpxw, kaBvPpifovoa kai 0¢ Kai T od-

gyw 8 VPpLv pév ovk Exw, kakdg 6¢ o
Aéyw Kak®G kAbovoa Tipog o€bev Bapda.
TaThp Ydp, 00dev dAAo, ool mpooxnu’ del
w¢ €€ €pod TéBvnkev. €€ €pov- kal@g
ggoda- TV’ dpvnotg odk Eveoti pot

1 Yap Aikn viv eikev, ovk €y® povn,

1 Xpiiv o’ dpnyewy, el gpovodo’ ETOYyXaveG:
EMEL TAT P 600G 00TOG, OV BpnVvelg del,

TNV ofVv Opatpov podvog EANvwv ETAn
0boat Beoioty, ovk ioov kapwv épol

VTG, 86 Eomelp’, WOTEP 1) TIKTOVO €YW.
elev, idagov M pe Tod xapwy, Tivwv
g€0voev avTr V- TOTEPOV ApYyeiwy EPEiG;
AN’ 00 HeTHV a0TOIOL TAV Y~ €NV KTAVELV.

Outline four accusations that, according to Clytemnestra, Electra brings against her.

Support your answer by quoting the Greek text.

[4]

gyw ... éTvyxaveg (lines 523-529). List three statements Clytemnestra makes in her
own defence. Support your answer by quoting the Greek text. [3]

émel ... ktavelv (lines 530-536). List three reasons given by Clytemnestra to argue
that Agamemnon acted against justice in sacrificing Iphigenia. Quotation of the Greek

text is not required.

[3]

Write out and scan elev ... épeig (lines 534-535). Indicate elisions where necessary. [2]

Identify three figures of speech from the extract that highlight Clytemnestra’s

indignation at her daughter’s accusations.

[3]



Option C: Tragedy

Extract 6

(c)

(d)

(e)
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Sophocles, Electra 680-700

680 IIAL

685

690

695

700

KATIEUTIOUNV TIPOG TadTA Kal TO AV QpAacw.
Ketvog yap EABwv i 10 kAetvov EANadog
pooxNU’ aydvog AeApikdv a0 wv XapLy,
61’ fjo0et’ avdpog dpBiwv knpuyudtwy
Spopov mpoknpvEavtog, o TPWTN KPioLg,
elofAOe Aaumpdg, mdot Toig ékel o¢fag:
dpopov &’ iowoag Tapéoel T Téppata
vikng &éxwv ¢éENAOe mavTiHoV yépag.

XOTWG pev &v moAAoiot madpd oot Aéyw
ovk oida o108’ avdpog Epya kal KpaTn-
€v 8’ 100’ dowv yap eioexnpuviav Bpafiig
[Spopwv Stavdwv mévtabl’ & vopiletal]
TOUTWV £VEYKWYV TTAVTA TATLVIKLA
WAPICeT’, Apyeiog pev Avakalolpevog,
Svopa 8° Opéotng, Tod 10 kAetvov ‘EANGS0g
Ayapéuvovog otpatevp’ dyelpavtog moTe.
Kal TadTa puev totadd - dtav 8¢ Tig Bedv
BAAmtTY, SVvaut’ dv ovd’ dv ioxdwv uYyELv.
Kevog yap GAANG fuépag, 60 inmkdv

v NAlov TEAAOVTOG WKVTIOVG Ay WV,
elofAOe TOAA@V appatnhatdv péta.

Outline the effects produced by Paedagogus’s narration of Orestes’s death on the other
characters of the play and on the audience. Quotation of the Greek text is not required.  [3]

AeAgudv a0 wv (line 682). Give four details (not found in the extract) about the

Delphic games.

Give the two words, with their English translations, that describe Orestes after his

first victory.

[4]

[2]

Compare the achievements of Orestes with those of Agamemnon, as mentioned in the
extract. Quotation of the Greek text is not required.

Translate keivog ... péta (lines 698-700).

[3]

[3]

Turn over
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Option D: Agon

Extract 7 Sophocles, Antigone 499-523

AN. i dfta peAAelg; wg épol T@V o@v Aoywv
500 apeoTtov ovdEV Und’ apeodein moté-
oVTw 8¢ kal ool Ty apavdavovt’ Egu.
Kaitot obev kKAéog Y’ &v ebkheéoTepov
KATéoXOV f] TOV avTAdeA@oV €V TaQw
T0eioa; TovTOLC TODTO TTAOLY Avdavely
505 Aéyort’ &, el pr yAdooav €ykAfjot 9opog.
AN’ 1) Tupavvig TOAAG T AN evdaupovel
kd&eotv avtf) Spdv Aéyewv 0 & BovAetad.
KP. oV todto povvn tdvde Kadueiwv 0pds.
AN. o6pdat xodToL, goi 8 vmidhovoty otopa.
510 KP. o0 8’ ovk émaudel, TOVOe Xwplig €l povels;
AN. 0v8&v yap aioxpov TOOG OHOOTIALYXVOVG O£€PELV.
KP.  olkovv dpaipog x@ katavtiov Bavwv;
AN.  Opaipog €k puag Te kai Tavtod maTpog.
KP.  n@g &ft’ éxeivw dvooePiy Tipdc xdptv;
515 AN. o0 paptupnoet tadd’ 6 katbavav vékug.
KP. &l 1ol 0¢e Tipudg €€ ioov 1@ Svooefel.
AN. o0 ydp 1t doDAog, AN adehpog dAeTO.
KP.  mopOB@v 8¢ tnvde yijv- 0 §° dvtiotag vmep.
AN.  6p®¢ 6y’ Adng Tovg vopovg Tovtovg mobel.
520 KP.  &AN’ oy 6 xpnotog Td kak®d Aayelv i0og.
AN. Tig oidev &l katwOev evayf| Tade;
KP.  obtotmof’ obxBpog, ovd’ dtav Bavn, gilog.
AN. ovtot ovvéxDetv, AANG oLPPIAETY EQuV.

7. (a) Write out and scan aA\’ 1] Tupavvig ... fovletat (lines 506-507). Indicate elisions
where necessary. (2]

(b)  xaitot ... oéPewv (lines 502-511). Outline how the burial given to Polyneices is
regarded differently by Antigone and Creon in these lines. [4]

(c) ob paptuproet ... tade (lines 515-521). Explain why the dead Eteocles will not grieve
about Polyneices’s burial according to Antigone. Quotation of the Greek text is not
required. [4]

(d) ovUtol... éguv (lines 522-523). Identify three pairs of words or expressions from
the Greek text that create a sense of strong contraposition and give their English
translations. [3]

(e) Give two words, with literal English translation, that are used in the extract as
synonymous for “brother”. [2]
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Option D: Agon

Extract 8 Lysias, On the Murder of Eratosthenes 22-24

10

WUOAOYEL TaDTA IO OELY. Kal LT TadTa SLeyEVOVTo THéEpal TECOAPEG T TIEVTE, ... ©G YD
HeydaAotg byiv tekunpiotg Emdeiw. mpdtov 8¢ dinyroacBat Bovropat té mpaxOévTa T
TeevTaig NEéPQ. ZWoTPaToG NV pot Emtndetog kat gilog. tovTw NAiov §edukoTog ioVTL €§
aypod annvnoa. eidwgd’ eyw OTL TNVIKADTA APLYHEVOG 0VOEVA KATAAYOLTO OikoL TV
¢mutndeiwv, ékélevov ovvdelmveiv- kai ENOOVTEG oikade wg Epé, aAvaPdavTeg €ig TO LTEPPOV
gdetmvodpev. €meldr| 8¢ KaA@g adT® eixeV, £keVOG HEV AV OXETO, Eyw O’ ékdBevdov. 6 &’

"Epatocbévng, @ dvdpec, eioépxetal, kal 1 Oepamatva éneyeipacd pe evOLG epalet 6tL Evdov EoTi.

(@)

(d)
(e)

K&y einwv ékeivr émpeeiobat Tig BVpag, kataBag owwnf) E€pxopal, Kal dQLKvoDHaL WG TOV Kal
TOV, Kai Tovg eV Evdov katéapov, Tovg 8¢ ovk émdnuodvrag ndpov. maparapav d’ wg oiov

Te Nv TAeioToVG €k TOV Ttapovtwy ¢Radlov. kal dadag Aafovteg ék tod £yyvtata kanmAeiov
elogpyopeda, dvewypévng tig B0pag kal Lo TG AvBpwToL TapeokevVaoUEVNG. DoavTeg O TNV
Bvpav Tod dwyatiov ol uev Mp@ToL €lo1OVTEG ETL €IdOUEV ADTOV KATAKEIHEVOV TIaApa T} Yuvauki, ot
&’ Votepov év Tij KAivr) yopvov éotnkoTa.

wpoAoyel tadta momoetv (line 1). Identify the subject of the sentence and explain what
he or she is supposed to do. [3]

Outline four points that Euphiletus provides as proof that he was not premeditating the

homicide. Quotation of the Greek text is not required. [4]
Translate €idwg §°... édeimvodpev (lines 4-6). [3]
Explain why Euphiletus only found a few of his neighbours. [2]

0 8 Epatoofévng ... éotnkota (lines 6-13). Describe the tone of the scene. Support
your argument by quoting two details from the Greek text. [3]

Turn over
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Option F: Scientific knowledge

Extract 9 Hippocrates, De aere aquis et locis 3

10

(@)

(d)

(e)

Okwg 8¢ xpn) EKaoTa TOV TPOELPNUEVWY OKOTIETV Kail PacaviCery, £yw @paow capews. fTIg HeV
TOALG TIPOG T TTveDpaTa Keitat & Oeppd — tadta §’ 0Tl peTadd TG Te XELHEPLVIIG AVATOANG
100 NAlov kal TOV SLOHEWY TOV XELHEPIVDY — Kal adTf] TadTa T TVELHATA €0TL OVVVOHA, TOV
8¢ amo TOV APKTWV TVELHATWY OKETT), €V TADTN TH) TOAeL €0Tl T Te VOt TOANA Kail Dgpala,
Kal avaykn eivat petéwpa, Tod pév B¢peog Beppd, Tod 8¢ Xelp@vog Yyuxpd- Tovg Te dvBpwmovg
TG KEPAAAG DYPAG Exetv Kal pAeypat@deag, TG Te KOAiag avTt®v mukva éktapdooeobal dmod
TAG KeQAARG TOD PAEYHATOG EMKATAPPEOVTOG: TA Te €ldea €mi TO MA{H0g adT@V dTovwTepa
elvat- é00ietv §° ovk dyaBovg elvan 008E Tivery. OkdOOL eV Yap kepahdg dobevéag Exovory,
ovK &v einoav dyabot mivetv- 1) yap kpamdAn pdAlov miélel. voonuatd te tade émywpta eiva:
TPOTOV PEV TAG YUVATKAG VOOEPAG Kal powdeag eivat: Emetta TOANAG dTOKOVG DTIO VOLOOL Kai 0V
@uoel ékTitpwokeoBai Te mukva- Tolol Te maudioloty Emmintety onaocpov Te kat doBpata kat
vopiCovot 0 Taudiov moLely kai iepnv vodoov eivat:

Outline the four topics examined in the extract. [4]
okomeiv kai pacaviCewv (line 1). Define these two verbs. [2]

fitis ... okénn (lines 1-4). List three characteristics of the city described in this extract.
Support your answer by quoting the Greek text. [3]

ToVG Te AvBpwmovg ... mélet (lines 5-9). Outline the relationship between head,
phlegm, and eating and drinking. [3]

Translate oAMdg ... eivau (lines 10-12). [3]
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Option F: Scientific knowledge

Extract 10  Hippocrates, De aere aquis et locis 8

10.

10

(@)

(b)

(d)

(e)

S TadTa 8¢ kal onmetal T@V VOATWY TdyloTA TaDTA Kal ddUNV loxel Tovnpry TO duPplov, ot
ano mheiotwv ovvijkTal Kai cVppépKTal, dote onrecat Taxota. €Tt 8¢ mpog TovToloty émelday
apmacOf] kal petewplodij mepLPepOUEVOVY Kal KATAUEULYHEVOV €G TOV EpPa, TO eV Boepodv
avtod Kai VukToetdEg ékkpivetal kai é§iotatal kat yivetat fnp kot OpixAn, 0 8¢ Aapnpodtatov
Kal Kov@otatov avtod Aeimetal kal ylvkaivetat O1o ToD NAIOV KALOUEVOV TE KAl EYOUEVOV.
yivetat 6¢ kai T TavTa T EYopeva aiel yAvkutepa. €wg pév odv Steokedaouévov 1 Kai pimw
OVLVEOTNKI), PEPETAL LETEWPOV. OKOTAV O KOV ABpololf] kal ovoTpaf) £€G TO aVTO LTIO AVEHWY
dAAnAototy évavtiwBévtwy £€aipvng, TOTe Katappnyvutal fj &v TOXN TAEIOTOV CLOTPAPEY. TOTE
yap €o1kog To0To HAAAOV YiveoOal, OKOTAV TA VEQER DTIO AVEUOL OTAOLY pr) EXOVTOG WPUNUEVA
govTa Kal Ywpeovta é€aipvng avtikoyn mvedpa évavtiov kai £tepa vépea- évtadda 10 pév
TPOTOV A0TOD CVOTPEPETAL, Ta 08 Omiobev EmpépeTal Te kal oUTw mayvveTal kai peAaivetat kol
OVLOTPEPETAL €G TO ADTO Kal VIO BApeog KaTappnyvuTat kai duPpot yivovtat.

€T 0¢ ... éyopevov (lines 2-5). List the four components that the rainwater is
separated into when it is carried into the air. Support your answer by quoting the
Greek text. [4]

€11 8¢ ... yYhukOtepa (lines 2-6). Analyse the process by which part of the rain-water
becomes sweeter and explain why this happens. [3]

TOTE yap €owkog ... yivovtat (lines 8—-12). Outline the four stages in which clouds
generate rain. [4]

Give two Greek words in this extract, with a translation or short explanation, which
indicate dark colours. [2]

Give two Greek words typical of the lonic dialect of Hippocrates and explain how they
are different from the equivalent Attic forms. [2]




